Practice test 2 - Memo Total: 15 Marks

Count in two's. () One mark if all the answers are correct.

6 8 10 12 14 16 I8 20 22 24
Count in two's to s0. i) One mark if all the answers are
correct.
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Do the f\o”owing subtraction calculations. (2)

_ No marks allocated if the
i-3=¢ learner did not show how
O00000BSSRS the answer was reached.

Circles or lines MUST be

12 —8 =4 drawn. If there are no
0000EEEEEE8S circles, the answer is wrong.

4. = 71=1
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6 — 6 =10
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Make QPOUDS O'F 2 Make 9POUIDS O'F 3

HOW manﬂ SPOUPS are there7 1

Shqr‘e the bCI"S eq UC|"L] qmonq 2 Fr‘lends
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H balls wil h friend 9 b ” No marks allocated if the balls at the top were not
ow many baills will eac rien Set" 6 balls first taken away. No marks if the word “balls” is not

written.




There are 12 flowers. There are 3 friends who must Set
flowers. Share the sweets ectuo”H amongst the friends. How
mdng 'F|ower‘s W||| eGCh Fr‘iencl et? (Three marks in total: one mark for

the correct sum; one mark for sl‘wowing how you got the answer - circles or Pictures drcwn;
one mark for the correct answer that MUST include the correct word)

12 +3 =14 'FIOWGI"S

0808888888 8 Circles at the top must first be taken away.

00O0O0 00O0O0 000O0
Do the following calculations. (3)
v
No marks allocated if the
0 =2 = learner did not show how
the answer was reached.
SsSese88esss88s Circles or lines MUST be
0O0OO0OO0O 0O0OO0OO0O drawn. If there are no
5 + 3 = circles, the answer is wrong.
) Circles at the top MUST first
SR SRR R R C R R R C R R o R R C R R o) be taken away, or the
60000 60000 60000 answer will be wrong.
12 = 4 =

ASISIRSI SRR SI SIS I SHR SIS SIS
ocoo ocoo ocoo ocoo




